The economic success of the 1960s gave
way to unfulfilled expectations in the $870s.
The U.S8. economy failed to deliver the price
stability and the generally high growth of
real income that had come to be expected.
Perceiving this as the failure of Keynesian
economic policies, some economists have
advocated tax cuts and reductions in gocvern-
ment regulations as the solution to the ecc-
nomic malaise that threatens to dominate the
1980s. These supply-side prescriptions repre-
sent a resurfacing of economic thinking
dominant before the Great Depression.

The likely impact and success of supply-

*Aris Protopapadakis is Research Officer and
Economist at the Philadelphia Fed. He received his
Ph.D. from the University of Chicago.

side economics were an important feature of
the tax reform debate in the 1980 Presidential
campaign. The emphasis on tax cuts in the
campaign as well as the tax proposals of the
new Administration reflect inrcads of supply-
side economics on the policymaking process.
Whether this appreach will work, however,
is not clear.

THE 1870s:
INFLATION AND SLOW GROWTH
During the 1978s, the U.S. economy ex-
perienced a high rate of inflaticn and a low
growth rate of output. The growth rate of
productivity (cutput per hour werked) came
to a halt in the later 1970s, in contrast to the
1950s and 1960s. Furthermore, the share ¢
income that the Federal, state, and lccal



governments took through various taxes was
higher in this decade than at any other time
(Figure 1), resulting in a decline in the per
capita real income that goes to the private
sector in the latter part cf the decade. The
average rate of inflation as measured by the
CPI also was higher in this decade, and it
increased alarmingly in 1977-78.

Inflation has been viewed both as a direct
source of the economic malaise and as the
reason for the poor cuiput performance of
the economy. Most economists and business-
men believe that at least in the short run the
performance of the econemy is not indepen-
dent of the rate of inflaticn. Inflation is
viewed as causing increased uncertainty in
the business environment, higher and more
volatile interesi rates, automatic increasesin
taxes, and depreciation of the dollar vis-a-
vis other currencies.

Though most people agree that stagnating
productivity and high inflaticn are undesir-
able, there is much less agreement about
their causes and cures. Some argue that the
low and falling investment rate causes pro-
ductivity to stagnate, which worsens infla-
tion., Cthers contend that the high inflation
rates reduce incentives to save while the
accompanying uncertainty reduces incen-
tives to invest, sapping productivity growth.
Causes and consequences are hard to sort
oui.

One school of thought, generally referred
to as supply-side econcmics, recently has
gained attention with tax and expenditure
cut preposals. The basic claim is that the
econcmic stagnation of the 1970s is a result
of increasing taxes on all forms of income
that have reduced incentives to preduce and
invest, and that reducing these taxes will
restore productivity growth.

DEMAND MANAGEMENT V§
SUPPLY-SIDE ECONOMIGS

Supply-side economigs is firmly rocted in
classicel sconomic theory. Until the Great
Denression, economists believed that gov-
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ernment could increase the level of cutput
only by !mplementing policies that increase
financial incentives to produce, But econo-
mists were unable to reccncile the high and
persistent unemployment of the Great De-
pression with the teachings of classical eco-
nomic theory. They eventually came to con-
clude that a slowdown of the growth of
cutput was evidence that labor and capital
were not being fully utilized because they
were involuntarily idle, so that increasing
financial rewards to production weuld not
increase output cr reduce unemployment.
The policy prescriptions cf classical eco-
nomics were viewed as bankrupt and demand
managament was bcrn.

Demand Management. Economic policy
since World War II has been dominatec by
demand management policies. Demand
management (often referred to as Keynesian
economics) is the attempt to increase output
by increasing demand for it, thrcugh govern-
ment pclicies. Thera are two fundamental
premises of demand management. Cne is
that the level of economic activity can be
affected in predictable and persistent ways
by fiscal and monetary peclicies. The other is
that the economy often experiences under-
utilization of [abor (unemployment]) and
capital as a result of the failure of markets fo
work satisfactorily. Since these underutilized
resources could be put to work if more
demand were forthcoming, Keynesians argue
that it is up to the government to design
policies aimed at increasing aggregate
demand.

The two traditional tools of demand
management are monetary and fiscal pclicy.
Tc expand aggregate demand through mone-
tary policy, the Federal Reserve increases
the growth rate of the money supply abcve
its longer term irend. This tempcrarily
decreases the cost of borrowing to firms,
which spurs invesiment and increases cen-
sumption demand as consumers try tc spend
the excess money. To expand aggregate
demand through fiscal policy, the gevern-
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meni can increase expenditures or reduce
taxes. Demand increases directly, as govern-
ment buys more goods and services or ieaves
more disposable inccme with consumers,
part of which they choose to spend.

These traditional econcmic paclicies ap-
peared to work reasonably well until the late
1860s. Since that time, it has become in-
creasingly clear that the econcmy does not
consistenfly respond in the way Keynesian
economists predict; indeed, scmetimes the
respense seems cpposite to what they expect,
as during periods when inflation and un-
employment have risen simultaneously.
This suggests that low preductivity growth
and high inflation might persist in snite of —
some say pecause of —demand management
policies.

The Supply-Side View. The main claim of
supply-side eccnomics is that aggregate
economic behavier will respond measurably
to changes in financial incentives, and in
particular to these incentives that are affected
by the economic policies of the government.
Why? Because all the gcods and services in
the economy are produced by people. People
are hired by firms or are self-employed; in
either case they use toecls, machines, com-
puters, and communication systems to pro-
duce those goods and services. In a decentral-
ized economic system the numbper and kinds
of toois, machines, compuiers built, and
how much each person works are a result of
individual decisions in response to financial
incentives in the markets. The cast of bor-
rowing to finance investment, wages earned
from employment, and the tax rates on
income are three examples of financial in-
centives. As any of these incentives is
changed, individuals may change their
decisions about what kinds of jobs they want
and how hard they want tc work, while firms
may change their investment and empiocy-
ment plans.

Recent economic research has shown
some reasons why the level of output is not
likely to respend tc demand management



policies in predictable ways.! [t argues that
increased production reguires the percep-
tion of higher rewards for working and
investing—that output does not respond
automatically to higher demand. If no ad-
ditional incentives to produce are generated,
increased demand is more likely to lead to
higher prices than to more output. Pro-
ponents of supgply-side policies therefore
argue that the cbvious remedy to stagnating
growth is to concentrate economic policies
onrestoring the incentives to work and save,
since it would be the only reliable way to
increase aggregate cutput and productivity.

The principal supply-side policies that are
currenily advccated are reductions in tax
ratas on labor and capital inceme. Supply-
siders claim that lower tax rates on wages,
interest, dividends, and corperate income
will increase cutput by increasing the in-
centives to work, increasing the supply of
labor, and by increasing the incentives to
save and invest. They alsc argus that the
rapid increase in tax rates since the 1964 tax
cut is largely responsible for the fall in the
growth rate of productivity because it has
diminished incentives to work and save.
Thus, decreasing taxes will restore these
incentives and cause an expansicn of cutput.

Many eccnomists are skepticel about these
supply-side prescriptions. They believe that
cutting taxes will significantly increase
neither the supply of labor nor the supply of
saving. What {s the evidence? What, for
example, have economists found out about
the effect of taxes cn labor?

REDUCING TAXES ON LABOR INCOME
There are many econcmic studies of how
the work force in the U.S. has behaved as

1gee Donald . Mullineaux, “On Active and Passive
Monetary Policies: What Have We Learned from the
Rational Expectations Debate?” Business Review,
Federal Reserve Bank of Philadelphia, November/
December 1979.
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wages have changed.? Sincea tax cut results
in an after-tax increase in wages, these
studies may offer a guide to how the labor
force will respond to a tax cut.

Studies tc date generally agree that nrime-
age males do not measurably alter the
number of hours they work in response to
changes in their wages over time. But other
groups, which comprise an increasing share
of the work force, appear more responsivs to
wage changes.3 Cne recent study, for
insiance, shows evidence that married
women vary their work habits in response to
changing wages: a 10-perceni increase in the
wage rate increases the number of hours
they werk by more than 18 percent. The
number of workers also appears to respond
differentially toc tax rate changes. One
estimate suggests that a percentage-point
reduction in personal income taxes will
increase the primary labor force by only .05
percent, but the secondary labor force rises
0.37 percent.4 The net increase in employ-
ment hours (stemming from more workers
and some people working more} from the
same tax reduction is estimated at 0.5 percent.

There are other pcints to consider. The
decision about when to retire appears to
depend cn after-tax income. If the tax rates
are high, take-home pay is low relative to
retirement pay and people choose to retire
early. Thus a decline in the tax rates may

2Harvey Rosen, “What is Labor Supply and Do Taxes
Affect It?” American Economic Review 70, 2 (May
1980), pp. 171-1786, and Jerry Hausman, “Income and
Payroll Tax Policy and Labor Supply,” paper presented
at a conference on “The Supply Side Effects of Economic
Policy," Washingion University and the Federal Reserve
Bank of St. Louis, October 24-25, 1980.

C‘1Prime—age males made up almost 70 percent of the
work force in 1964 but only 568 percent of the work force
in 1977.

4Michael Evans, “An Econometric Model Incor-
porating the Supply Side Effects of Economic Policy,”
paper presented at a conference on “The Supply Side
Effects of Economic Policy,” Washington University
and the Federal Reserve Bank of St. Louis, October 24-
25, 1980.



expand the supply of labor by postponing
retirement plans. Also, evidence from a
study done on self-employed individuals
shows that both their hours worked and their
intensity of work are highly sensitive tc
after-tax income and therefore to tax rate
cuts.5

To put things in rough perspective, a tax
cut that would induce a 10-percent increase
in the supply of labor would result in a 7-
percent to 10-percent increase in output,
spread over the time period necessary for the
adjustment to be completed [which ceould
take several years).® In current dollars, this
represents only a $18¢-billion to $270-billion
increase in the full-employment GNP.
Under optimistic assumptions, such an
increase could be obtained through a decrease
of roughly 14 percentage points (roughly a
40-percent reduction in the marginal tax
rates on labor income).” These estimates are
subject to a large margin of errcr. It is also
the case, however, that if the percentage cf
the secondary labkor force in the total labor
force continues to inciease, the responsive-
ness of the total labor sunply to tax cuts may
well rise beyond the level assumed in this
calculation.

5Terrance Wales, “Estimation of a Labor Supply
Curve for Self-Employed Business Proprietors,” Inter-
national Economic Review 14 (February 1973), pp. 69-
80.

5The 7-percent increase in output will be a result of
the increase in the supply of labor. The additional 3
percent will be because as additional savings get con-
verted into physical capital the capital-to-labor ratio
will return to its original value (K/L will initially fall as
the labor force increases).

"This calculation relies on a simple Cobb-Douglas

production function [Y = K0'3L0'7]. where Y is real

income, K is capital, and L is labor. The increase in
output would be 7 percent if capital remains fixed but 10
percent if the capital-to-labor ratio remains fixed. The
primary labor force (55 percent of the total) is assumed
to increase its work hours by .5 percent in response to a
10-percent increase in wages, while the secondary labor
force responds with a 10-percent increase. The average
marginal tax rate is taken to be 33 percent.
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What Kind of a Tax Cut? Taxes on labor
income can be cut either by reducing the
average taxes collected on income (the
average tax rate), or by reducing the marginal
tax rate on income—the tax a person pays on
a dollar of additional income. Will these
different ways of cutting taxes have different
effects? To answer this question it is
necessary to find out how changes in the
wage rate affect the supply of labor.

A measure of the incentive that most
affects people’s willingness to work is the
hourly take-home pay. Increasing the hourly
pay has twe separate and cpposite effectscn
individuals. First, it results in more incocme
for the same work, and this induces pecple to
werk fewer hours. But since the wage rate is
higher, the income in additional wages
people give up by not working more is
higher. This induces them toc werk more
kours. These two ferces (the income effect
and the substitution effect) work against one
ancther.8 Whether an increase in the hourly
take-home pay will induce pecple to work
more or less depends on which effect
dominates.

Both the marginal and average tax rates on
laborincome affect how much people decide
to work. (Progressive income tax schedules
assure that the marginal tax rate is always
higher than the average tax rate.) People will
respond differently to changes in their

8Since work is the opposite of leisure, working
reduces an individual’s utility, everything else remain-
ing equal. More income from increased wages for the
same amount of leisure, therefore, will cause an individ-
ual to increase his leisure and utility. This is the income
effect. The increase in wage rate, however, makes the
opportunity cost of leisure (income forgone to obtain
leisure) higher. If his income is kept the same, an
individual will prefer to work more. This is the substitu-
tion effect. Whether an increase in the average wage
rate results in an increase in the supply of labor depends
on people's preferences and incomes. It is obvious that
with sufficiently high incomes the utility of additional
income will be sufficiently small so that an increase in
the wage rate will decrease the supply of labor.



marginal tax rates than in their average tax
rates, because of the way in which the
inccme and substitution effects operate. To
see how this works, take a fictitious example
of an individual who earns $25,000 a year,
and whose total deductions come tc $5,000.
Also suppcse that the tax rate for income
between $15,060 and $25,000 is 30 percent,
while for below $15,300 the rate is 20 percent.
This taxpayer computes her taxes to be
$4,500.9 Her marginal tax rate is 30 percent
while her average tax rate is only 18 percent.

Reducing her average tax rate but not her
marginal tax rate can be accomplished by
increasing her allowable personal deductions.
If she were atlowed to deduct $4,600 mcre,
her total taxes would be only $3,308, her
average tax rate would drop to 13.2 percent,
but her marginal tax rate would remain at 30
percent. How would she respond to this tax
cut? Since she has & higher incocme for the
same hecurs worked, she will be likely to
work less (income effect). Since her mar-
ginal tax rate hasn't changed, the substitution
effect will nct operate te counteract the
income effect.

By contrast, a widening of the tax brackets
will decrease her marginal tax rate but not
heraverage tax rate—forinstance income up
to $25,006 may now be taxed &t 18 percent.
In this case, her average tax rate wili remain
at 18 percent but her marginal tax rate will
drop to 18 percent. How would she respond?
Since she will earn the same income as
before by working the same number of
hours, she has no incentive to reduce her
hours worked. In other words, the income
effect does not operate. But since her mar-
ginal tax rate nas failen, it is more lucrative
toc work more hours than it used to be
{substitution effect), and she would be likely

93he pays 0.2x$15,000 =$3,000 on the first $15,000
reported income and 0.3x$5,000 = $1,500 on the re-
maining $5,000. Her average tax rate is 4,500/25,000 =
18 percent.
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to work more.

The response of labor supply tc a tax
reform package is not easy to predict. ff both
marginal and average tax rates are reduced,
then the overall effect on the supply of labor
will come frem the interaction of the income
and substituticn effects which is difficult to
gauge, But if, as a result of the revenue loss,
government services are reduced along with
the tax cut, the aggregate labor supply will
respend much as it would to a cutin marginal
tax rates alcne. The reason is that individuals
will have tc pay directly for services they are
receiving through their tax dollars, so that
the combination of the tax cuts and the
reducticn in government services will leave
them with roughly the same income as before.
Since the income effect is severely limited,
the respcnse of labor will reflect mainly the
substitution effect, which should mean an
increase in hours werkead.

Most labor studies have not measured the
income and substitution effects separately.
Thus, we know very little about the magni-
tude of each effect alone. It is clear, however,
that a tax cutthat primarily recuces marginal
tax rates rather than average rates will have
the most impact, and almost certainly in-
crease the supply of labor.

REDUCING TAXES
ON CAPITAL INCOME

An additicnal way in which incentives tc
produce can be increased is to reduce taxes
levied on the return to capital, or capital
income. These are texes ccllected directly
frem corporations via the corporate income
tax and from consumers via taxes on divi-
dends, interest income, and capital gains.
The claim of supply-siders is that a reduciion
in taxes cn capital income will increase the
incentives to save by increasing the after-tax
return to capital.

Taxes cn the returns to capital have been
growing steadily for two separate reasons.
One is that income tax rates have besn
rising. The other is the way the tax ccde



interacts with inflation. The existing tax
code does not distinguish real capital gains
(which occur only when the value of an asset
changes relative to that of goods and services)
from the rise in the dollar value of an asset
caused by inflaticn. If the price of a share
goes up by 6 percent while inflation is 10
percent, the real value of the asset has
declined by 4 percent, but the tax system
treats the 6-percent increase as a capital
gain. The tax code affects interest receipts in
roughly the same way. Interest receipts
usuaily are treated as taxable income (interest
cn state and local securities is tax exempt]},
even thcugh most if not all of them simply
offset the rate of inflation. In an economic
environment where the inflation rate is rising,
as it was in the 1970s, the current tax code
ensures that the tax rates on capital income
will rise and the after-tax return to its swners
will fall, for the same quantity of installed
capital—plant and machinery (see Appendix}.

Taxes on capital income reduce the return
to the owners of the claims to this capital
(stocks, bonds, and business loans). And this
is ecually true whether these taxes are col-
lected from individuals in the form cf income
and capital gain taxes or from businesses in
the ferm of profits taxes. Increasing the
returns to capital may induce pecple to save
more or less; the sutceme againdependsona
balancing of the income and substituticn
effects. A higher return to capital will make
the future rewards from saving higher,
which will encourage saving. This is the
substitution effect once again. But higher
returns mean that the future income frem
accumulated savings will be higher, so that
people don't have te save as much or as long
to get the same future consumption. This is
the income effect, and it works to discourage
saving.

While eccnomists disagree about the
impact of higher rates of return on savings,
there is a consensus that the economy needs
to generate more saving. Since gross saving
represents the difference between what is
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produced and what is consumed in the
econcmy, saving a higher proportion of
income will make more resources available
for the production of capital goods, in-
creasing the amount of physical capital and
research and development, both of which
lead to higher per capita output in the future.

Economists have tried to find out how
saving is likely to respond tc higher rates of
return by analyzing historical evidence.
Early studies of consumption and seving
found saving behavior to be insensitive to
rates of return. A recent study by Boskin,
however, has documented a substantial
impact cf after-tax returns on gross saving, 10
He found that a 10-percent increase in the
real (actual returns adjusted for inflation)
after-tax rate of return will result in an
increase of approximately Z percent to 4
percent in available savings each year,
which would result in an overall increase in
the full-employment GNP of 1 to 2 percent. 11
This means that halving of the tax levied on
the returns to capital could result in a
permmanent increase in saving of 31 percent
and an eventual increase in GNP of 10 to 17
percent (250 to 420 billion current dgllars). 12
Evans also finds a significant correlation
between saving and the after-tax real rate of
return. He calculates that a one-percentage-

107This study has come under some criticism and has
been discussed extensively. For a good summary of the
issues and criticisms, see Charles McClure, Jr., "“Taxes,
Saving and Welfare: Theory and Evidence,” National
Tax Journal 33, 3 (September 1980), pp. 311-320.

117his value is calculated from the same production
function as before, but assuming that labor supply does
not respond to the higher wages that will result from the
increased productivity.

12This calculation is meant to be illustrative, because
it is very difficult to take into account all the complexi-
ties of the tax laws. It is assumed that all returns to
capital are taxed at a 35-percent average tax rate, that
the inflation rate is 10 percent, and that the average
return is 17 percent before tax. Thisimplies an after-tax
real return of 1.05 percent at 35-percent tax and 4.025
percent at 17.5-percent tax.



point increase in this return would raise
saving by $12 billicn or by 2 to 3 percent.
Economists are far from agreeing on the
magnitude of the impact of 2 tax cut aimed at
stimulating saving. The estimates discussed
here must be viewed as preliminary and
probably optimistic, Changes in marginal
tax rates again have a different effect on
saving than changes in average tax raies. A
decrease in the marginal tax rate will trigger
the substitution effect respcnse and will
increase the supply of saving, whilez decrease
in the average tax rate cnly will operate
through the income effect and will reduce
the supply of saving. A tax reform designed
primarily to reduce the marginaltax rates cn
capital income seems likely ioc result in
moderate increases in the saving rate and in

the full-employment GNP.

Can tax cuts increase the growth rate of
productivity? How quickly will tax cuts
work? How will they affect inflation? What
will be the impact on the Federal deficit (see
CAN TAX CUTS PAY FOR THEM-
SELVES?)? These are the gquestions most
often asked about supply-side economics.
The answers are neither simple nor precise.

CAN SUPPLY-SIDE ECONOMICS WORK?

The supply-side logic and a small body of
evidence suggest that reducing marginal tax
rates on lzbor inccme will increase the supply
of labor scmewhat, while the same kind of
reduction in taxes cn capitel income will
increase the supply of saving and allow
investment to rise. As a result of either type
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‘ Some supply-siders maintain that tax cuts will generate enough additional economic activity so
that total tax receipts will not decline. A reduction in tax rates obviously will result in lower receipts

Laffer as the “Laffer Curve."

to the Treasury at a given level of national income. But more tax revenue will be forthcoming if
national income increases. If tax incentives increase income by enough, the new receipts will offset
the losses from the tax cut, and the government budget will not show any additional deficits. This
idea dates back to eighteenth-century economists, and has recently been revived by Professor

There is no doubt that at sufficiently high tax levels this scenario can take place. But most
economists are very skeptical that, at current tax rates, supplies of labor and saving will respond
strongly enough to tax cuts to prevent an increase in the deficit. Fullerton, for example, calculates

|  that even with optimistic assumptions about the response of labor, the average tax rate on wages

|  would have to be well above 40 percent before tax cuts would pay for themselves.* And even if the

|  deficit created by the tax cuts turned out to be small following all adjustments of labor and capital
decisions, the deficits would be much larger in the beginning while the adjustment process gets
under way, creating an interim need for large deficit financing.

There are some offsetting considerations, however. Some economists estimate the underground
economy—that area of activity where transactions go unrecorded—to be as large as 33 percent of
reported GNP. T If the reduction in the tax rates causes a significant portion of this economy to
become legitimate, a tax cut might well pay for itself. In addition, individuals and corporations
should find it less worthwhile to employ tax shelters at lower tax rates; if they report higher taxable
income, Treasury revenues will increase. Onbalance, it doesn't seem likely that tax cuts will pay for
themselves, though the resulting deficits are unlikely to be as disastrous as some opponents of

supply-siders predict.

"Don Fullerton, “On the Possibility of an Inverse Relationship Between Tax Rates and Government
Revenues," National Bureau of Economic Research, Working Paper No. 467, April 1980.

JrE‘dgm‘ Feige, "How Big Is the Irregular Economy?” Challenge, November-December 1979.
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of tax cut, output will be higher in the future
than it would be without the tax cuts. During
the transition, as workers adjust their work
habits and increased investment builds up the
physical capital stock, the growth rate of
output wili be higher than it otherwise would
be. For instance, it was ncted abave that a
14-percentage-point decrease in the marginal
tax rates on labor income might result in as
much as $2708-billion total increase in cutput.
In this scenaric, output would grow by 3.5
percentage points more a year if the adjust-
ment took as little as 8 years bui by 1.5
additicnal percentage points if the adjust-
ment tock as long as 7 years. Once the
adjustmeni was complete, however, the
growth ratesof GNP and preductivity would
return tc their longer term trend, though
their level would always be higher.

The tctal marginal income tax rate has
been climbing since 1964, in spite of periodic
tax rate cuts (see Figure 2). 1% The principal
reascn is that as dollar incomes rise, in-
dividuals are pushed intc higher tax brackets.
This phencmenon, called bracket creep, will
cause fax rates tc continue rising automati-
cally as long as inflation persists. Supply-
siders argue that this continually growing
disincentive is responsible for the low pro-
ductivity growth in recent years. A tax
reform that would reduce taxes, and more
impertantly keep them at the new rates,
weuld ailow preductivity f{c grow perma-
nently faster than it has in the recent past.

How quickly labor supply may respond to
the tax cuts is hard tc know. There are sevare
technical problems that make it difficult tc
measure accurately how quickly labor supply
has responded to shifis in financial incentives
‘n the past, as well as how quickly the U.S.
econcmy has adjusted to the resulting

13Michael Evans, “Reagan Plan Hinges on Tax
Brackets,” The New York Times, December 23, 1980,
calculates that a 10-percent increase in personal income
results in a 15-percent increase in personal income
taxes.
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changes in the supply of labor. The last
guestion is important, because output wili
rise nct because the supply of labor has
increased but because more laborisemployed,
The circumsiances surrgunding the tax cut
will affect the adjustment process and will
determine whether and how ocutput will
respond in the short run. For instance, if
pecple believe that tax cuts are likely o be
reversed in the future, they will not signi-
ficanily change their work habits or sub-
stantially change their consumpticn and
saving patterns. Nor are firms likely to
undertake major additional investments if
they zerceive the tax cuts as transitcry.
Unless tax reductions are viewed as per-
manent, there will be only a small respcnse
to the tax cuts at best.

Another important element in the adjust-
ment process is the type of policy that
accornpanies a tax cut. The short-term im-
pact of tax reducticns is nof likely to be the
same as their long-term impact. Because the



supply-side effects of tax cuts will appear
slowly, the pelicies that accompany the tax
cuts will, to a large extent, determine the
economy'sresponse inthe shortterm. Ailtax
cuts havedemand-side implications. A cutin
taxes without a similar cut in government
expenditures will probably cause an increase
in the demand for goods and services, with
higher prices and interest rates over the shert
term. This will facilitate the output adjust-
ment by increasing the demand forlaberand
physical capital, but it will also likely meana
higher inflation rate and lower investment
during the transiticn. if, on the other hand,
government expenditures are reduced by
roughly the same amount (tc keep the deficit
from growing], demand in the sectors that
depend on government financed programs
will fall, while demand in the sectors dealing
with consumers and business firms will rise.
This will mean imbalances in employment
throughout the econcmy that may take a
while to work out, mesking the supply-side
effects of the tax cuts. But inflaticn during
the agjustment would likely be lower than in
the case where government spending is not
reduced.

Can the supply-side effects of tax cuts
help reduce the rate of inflaticn? The answer
isdisappointing: nctbymuch. Gverthelong
haul, inflation is basicelly the result of two
economic forces. One is the demand for
mcney (in terms of its purchasing power) and
the other is the supply of money in dollars, If
the real demand for money increases at 3
percent as a result of grewth in output, stable
prices require that the supply of money
increase roughly by 3 percent. If, however,
the supply of money increases by 12 percent,
then prices will increase by about ¢ percent.
It follows that tax cuts will reduce inflation
at a given rate of money supply growth cnly
if they increase the growth in the demand for
money by increasing output growth., The
consensus estimate from current studies is
that a 10-percent increase in cutput will
cause about a 8-percent increase in the real

a0

demand for money. Thus, if supply-side
initiatives were to increase cutput by, say,
10 percent over a six-year period, money
demand would increase one percentage point
a year and inflaticn would be reduced by
about one percentage point a year, but only
during the adjustment process. Once the
adjustment is complete, money demand will
grow at the rate dictated by the long-run
growth rate of cutput. Thus, supply-side
policies cannot substitute for restraining
growth in the money supply as a means to
combat inflation.

Finally, supply-side policies should not be
looked at toreplace ccuntercyclical demand-
management policies. Demand management
may be the appropriate policy response to
recessions that periodically are brought
about by special sequences of economic
events. But these policies are ill suited ic
improving long-term growth in productivity
and output, because they don't necessarily
increase incentives to produce, save, and
invest. Supply-side policies do precisely that,
but they are likely to work slowly and
therefore can't be used to combat recessions.

To sum up, the major claim of supply-sid
economics is that increasing incentives to
produce and save by cutting taxes will in-
crease the level of output and labor pro-
ductivity and may temporarily reduce the
rate of inflation. The available evidence
indicates that such cuts, if properly designed,
are likely to yield moderate gains in cutput
and productivity, But cnce-and-for-al! tax
cuts should increase the growth rate of
income and produciivity only while the
economy is adjusting tc the new conditions.
It is less likely that inflation can be signifi-
cantly reduced through supply-side policies
because the temporary increases in the
growth rate of cuiput are likely to be small
and because they will have an even smaller
impact on the demand fcr money. Money
supply grewth more in line with growth in
real output is an unavoidable part of a viabie
anti-inflation policy.
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APPENDIX

HOW TAXES
ON RETURNS TO CAPITAL
INTERACT WITH INFLATION

The economic difficulties created by the interaction of the tax code and inflation have been
discussed extensively at all levels of sophistication. Different rates of inflation can result in
different tax burdens without any explicit tax law changes, and the distribution of these burdens
can vary, depending on the rate of inflation.

In the economist's mind, pure inflation is when all prices and wages rise simultaneously,
continuously, and by the same amount. If pricesrise at 10 percent a year, then all prices rise together
at 10 percent, all wages, stock prices, and housing prices rise at 10 percent. Owners of bonds
(Treasury bills, corporate bonds) are compensated for the inflation by a sufficiently higher interest
rate, while owners of stocks are similarly compensated by a combination of dividends and capital
gains. Any price shifts that would take place without inflation would still take place and would be
superimposed on this rise in prices and wages. Suppose food constitutes one-quarter of the
consumer budget. If food prices were to rise by 4 percent relative to other prices with no inflation,
with a 10-percent overall inflation rate food would rise by 13 percent while other prices would rise
by 9 percent, With pure inflation, the purchasing power of the ever increasing dollar value of a
worker's income does not change. (The purchasing power of income or of an asset is the realvalue of
that income or asset, while the dollar value is the nominal value.)

The reason the U.S. tax code interacts with the rate of inflation to increase and alter the tax
burdens is because it does not explicitly recognize the difference between nominal and real values.

Income Taxes on Capital Income. Individuals pay the regular income tax rates on interest and
dividend income and almost half that rate on capital gains.* Therefore, the impact of the current tax
system on interest and dividend payments and on capital gains varies with the inflation rate.

Interest payments are made to bond holders. Bonds are nominal assets and their value at maturity
is fixed in dollar terms. This means that the real value of such a bond will decline over time if thereis
inflation. Suppose the inflation rate were expected to average 10 percent over the interval, and did,

*Michael Evans, “Reagan Plan Hinges on Tax Brackets,” The New York Times, December 23, 1980,

21



BUSINESS REVIEW

MAY/JUNE 1881

Aninvestorthat ownsa $1,000 10-year bond would at maturity be able fo purchase goods with it that
are only worth $368 now, The interest rate on the bond compensates the bondholder for this loss of
purchasing pawer to the extent that it is anticipated by the market. If the interest rate on such abond
would have been 5 percent with no anticipated inflation, it would be 15 percent if inflation was
anticipated to be 10 percent. The reason is that since the nominal asset cannot appreciate in dollar
value, the interest rate compensates the investor for the expected real loss. If there are no taxes,
both the holder and the issuer of the bond remain equally well off, whether there is inflation or not.
But the U.S. tax system treats the 15-percent interest payment the same way it treats the 5-percent
interest payment, The part of the interest payment that compensates the bondholder for the
expected loss is taxed as if it were regular income. As the inflation rate increases, the taxes
bondholders pay increase, and the after-tax returns decline. The first panel of the accompanying
table illustrates the effect of increased anticipated inflation on the real value of the principal and
interest after one year, with an example. To see how the table is constructed, look at the fourth line
of the first panel. Here the tax rate on interest income is 40 percent, the anticipated inflation is 10
percent, and the interest rate is 15 percent (5 percent + 10 percent). The investor purchases a bond
with a face value of $100 (column 4). The interest from the bond is $15 (15-percent interest), and after
taxes are subtracted he is left with $9. There are no capital gains by assumption (column 6}, When
the bond is redeemed, the total dollar value of the interest and principal comes to $109. To find the
real value of this sum, it must be divided by the new price level. If prices were taken to be 1.00 when
the investor purchases the bond, they are now 1.1 and his real wealth is only 99 ($109 now buys what
109/1.1 = $99 bought when the bond was purchased: see column 8). In the example given, the
investor realizes a loss in the purchasing power of his wealth when there is inflation, even though
the interest rate was higher by the rate of inflation.

Similarly with stocks. The only difference is that since part of the return to stockholders is in the
form of capital gains, the overall tax ends up being lower. This is illustrated in the second panel of
the table. The example is chosen so that without taxes, the returns from the stock and bond are
identical. Furthermore, it is assumed that the firm distributes all its economic profits (after
economic depreciation) to its shareholders in the form of dividends, so that ignoring the business
cycle and secondary impacts of inflation on profitability, the price of the shares will grow at the rate
of inflation. Finally, the last panel shows that if taxes were indexed to inflation, the tax burden
would not rise as inflation increases.

This example is not to suggest that the situation will persist as shown over a long time, since
investors will sell assets with the lower after-tax returns in favor of those with higher after-tax
returns, adjusted for risk. Also, the interest rate, dividends, and the size of the capital stock will
adjust to conditions of higher inflation. It is only meant to illustrate the increase in taxes and the
nature of the distortion introduced by the interaction of the tax system with inflation.

Corporate Income Taxes. Corporations pay Federal and state taxes on their reported profits.
Since they do not pay taxes on the increases in the dollar value of the physical capital they own,
such as land, buildings, and machinery, it would seem that the taxes they pay would not depend on
the underlying inflation rate. This is not so, because depreciation allowances for plant and
equipment are calculated based on historic costs. To see the effect of inflation, take a simple
example of a company that has just purchased a car for $10,000 which it plans to replace in one year.
Suppose that the car loses 50 percent of its real value during the year. If there is no inflation, the
company will sell the car for $5,000 at the end of the year and deduct $5,000 from its reported
profits, saving $2,300 in taxes.” If the inflation rate is 100 percent instead, the used car will sell for

*Assuming a three-year straight line depreciation, the firm takes the allowed 33 1/3 depreciation rate and the
additional 16 2/3 percent as a business loss.
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$10,000, and the allowable depreciation deduction ($5,000) will be offset by the apparent capital
gain, Thus, though the new car will now cost $20,000, the firm gets no depreciation allowance at all
and pays $2,300 more in taxes.

National Income Accounts reported in the Survey of CGurrent Business show that the accounting
methods used for inventory and depreciation together resulted, in 1970, in almost $3 billion
overstatement of total corporate profits (and almost $1.5 billion more in taxes paid), while in 1978
they resulted in almost $43 billion averstatement of corporate profits (and almost $20 billion more in
taxes paid].

After-tax
Interest
Tax  Inflation Interest Initial $ or Dividend § Capital Total$  Total Real
Rate Rate Rate Investment Payments Gain Value Value
Bonds
(A)
0 0 3 100 5 0 105 105
0 10 15 100 15 a 115 105
40 0 5 100 ’ 3 0 103 103
40 10 15 100 g9 0 109 99
Stocks
(B) Capital Gains Tax = 20 Percent
0 0 — 100 5 5 105 105
a 10 — 100 5 10 115 105
40 0 = 100 3 0 103 103
40 10 — 100 3 8 111 101
Q) Taxes Indexed to Inflation
0 0] — 100 5 0 105 105
0 10 — 100 5 10 115 105
40 0 —_ 100 3 0 103 103
40 10 — 100 3 10 113 103
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